% ¥ |9 |TReR B qRear @1 A T frew @ AW Ao o ™ (qof T Lat(i::;de L°"?Ei;”de e . frm /e /des ?Wﬁ
111 65 |7ar T ST, S 26.477837 74646924 | 2948 TR -
146 65 |uq. wor. vl o=y 91E, Rifde g, aera 26.472656 74.642582 3052 | fisey S 9 TR A &l
157 65  |orerer e o A=y a1, Rifdel o2, elerar 26.473427 74641966 | 3052 |Mseidl 4 R A =
158 65 |oR. ¥ cid =y 918, Rifdet arEA, d/EE 26.473393 74.64194 3052 | qiseyd 9 TR A ERl
159 65 o, 9. e e 91, Rt e, e 26473379 74641908 | 3052 |Wswdl 4 R F =
160 | o5 [|a= e g 1S, Rifdd e, e 26.473408 74641885 | 3052 |dse1d 7 R A e
161 65 |FeperT o=t <aT e 91, R e, e 26473409 74641886 | 3052 |Wswl 4 R =
162 | o5 [|o< o g 1S, Rifdd e, e 26.473413 74641875 | 3052 |dse1d 7 R A e
163 65 |<1. win Ris g TS, Rifael e, 26473417 74641856 | 3052 | Wswdl 4 R B
64 | o5 |7ar e g aTs, Rifdd e, e 26.473418 74641850 | 3052 |dse1d 7 R A e
165 65  |auree el Rawg 9IS, Rl oiee, elera 26473415 74641861 3052 |Wsed 4 TR =
166 65 |vd. weArR A=y 91E, Rifdel og, aera 26.473402 74.641865 3052 Py 7 TR | ESl
167 65 | (@< ) Rawg 9IS, RISl e, el 26473402 74641865 | 3052 |Mseid 4 R A =
168 65 |ergu SurATy A=y 91E, Rifder g, aera 26.473411 74.641851 3052 Py 7 TR | ESl
169 65 |@me < g 91, Rt e, 26473414 74641853 | 3052 | WSl 4 R —
170 | o5 |ameh <ire g aTs, Rifdd e, aerar 26.473415 74641851 | 3052 |dse1d 7 7 e -
71 65 |@re < e 91, R e, e 26473416 74641849 | 3052 |Wswdl 4 TR F —
172 | o5 |71 o g aTs, Rifdd e, e 26.473418 74641846 | 3052 |dse1d 7 R A -
173 65 |@re < e 91, R e, e 26473424 74641847 | 3052 |Wswdl 4 TR —
174 65 |fcea Rig A=y 91E, Rifde g, arera 26.473428 74.641849 3052 | qisey S 9 TR A ESl
175 65  |Wrel ufeT A A=y A1, Rifdel e, elera 26.473429 74.64185 3052 |Wsed 4 TR =
176 65 |@rel wire o= 918, Rifdd arEH, demEE 26.473434 74.641843 3052 | qiseyd 9 TR A —
177 65 |orrérer e Rawg a1S, il e, el 26.47347 74642186 | 3052 |Mseyd 4 R A =
178 65 |@rel wire o= 918, Rifdd arEH, dmEE 26.473467 74.642193 3052 | qiseyd 9 TR A —
179 65 |atorT orarel Rawg 9IS, Rl e, elera 26473464 74642196 | 3052 |Mseyd 4 R A =
180 | o5 [|7ar o g aTs, Rifdd e, e 26.473463 74642194 | 3052 |dse1d @ R A -
181 65 |&us exfIeT 9TRET A, = Rifder oreq, e 26.475898 74.642762 3012 TR o EEl
182 65 |@Tell e xfIe eReT A, =g Rifdet o$q, ey 26.475833 74.642741 3012 TR g el
183 65 |<f. fIRer tA. AR xfIe wReT Ant, = Rifde ogq, ey 26.475822 74.642771 3012 TR Tt
184 65 |dzar s exfdem eRer A, = Rifder amEe, ey 26.47582 74.642774 3012 TR e ESl
185 65 |@rch wie o ANl A, g Rildel aree, ey 26.475805 74.642792 | 3012 —p— =
186 65 |1 Ta. eSS xfIe eReT A, =g Rifdet osq, ey 26.475782 74.642828 3012 TR EE
187 65 |Sf w1 freae, Wi, wrach yaTe WRead [exfaems eRer ARt =g Rifde g, ey 26.475746 74.642879 3012 TR oy
188 65 o= == exfee e W, =g Rifter wde, ey 26475727 74642926 | 3012 - &
189 65 |l wie xfIe eReT A, g Rifdet ogq, ey 26.475714 74.642923 3012 TR e ESl
190 65 | oRM Sfaudd TR, UoTd Bareer IRffexfAeT vIReT A, = Rifder oreq, der|  26.475694 74.642974 3012 TR o EEl
191 65 |ag W xfe 9ReT A, =g Rifdet o$4, ey 26.475683 74.642997 3012 TR e &l
192 65 |arrer= werea, e o o ANl A, g Rildel aee, ey 26.475668 74.643027 | 3012 —p— =
193 65 |sroid oiF efaar Rar \nt, g Rifde arga, @rey 26.47565 74.643051 3012 TR e ES
194 65 [ow == o ANl A, g Rildel oree, ey 26.475638 74.643082 | 3012 —p— =
195 65 |arier (@reh wire) xfIe eReT A, g Rifdet osq, ey 26.475623 74.643102 3012 TR e -




196 65 |xgm 3RA, <F oiuw. fRE e=fIa wReT AT, = Riftd ame, @er|  26.475604 74.643126 3012 TR 8t
197 65 |efry aiRae R Tpera, Rifde aTed, ARRaM 26.475594 74.643152 3012 [Ty — T2
198 65 [<f Mam. YgRan RaT Tpold, RifdeT oe e, RN 26.475583 74643175 3012 TR T2
199 65 |gwr. uw. A 1Ra Grhord, Rifdel o2, oligra 26.475556 74.64321 3012 [y S T
200 65 |wreh wie TRT gpera, Rifae amgd, dEmaE 26.475554 74.64324 3012 e —
201 65 |#g ufy wRe @ srrare TRT Trberd, Rifder ogH, oera 26.475542 74.643267 3012 TR B
202 65 |FRemd @rer HiTel, B HiTel TTRg Yherd, Rifde amEd, aemEE 26.475523 74.6433 3012 e e
203 65 |ARemd el wirel, dHeE Hivel RT Theld, Rifdet o<+, oeras 26.475498 74.643341 3012 [Ty — T8
204 65  |wiiiar, sy shardg TTRg Uehord, Rifde amEd, aerEE 26.475491 74.643371 3012 e et
205 65 | s, €. it 99d g qRefR dY7iRa Grbeta, Rifdet @irde, drgrar 26.475465 74.643463 3012 TR e EE
207 65 [RRet warer averaret Ra Grbord, Rifdel o2, &R 26.475365 74.643485 3012 TR e
208 65 |<i <foes @R A R Tpord, RifdeT oed, ERaT 26.475369 74.643497 3012 P T2
209 65 |Si®. srrare, w9 Wit TRT Trhod, Rifder omge, dEmam 26.47538 74.643473 3012 e B
210 65 | wire R Tpera, Rifdel oTed, ARRaE 26.475378 74.643472 3012 [Ty — —
211 65 |s Aot wR9r <Idy Ra Grbord, Rifdel oe, &R 26.475374 74.643472 3012 TR e
212 65 [for= AR srer TRa Gehord, Rifdel ofeH, oligrar 26.475363 74.643487 3012 [y S T2
213 65 |mifas et o, wwerer st TRT Tpera, Rifaer amEd, dEmaE 26.475358 74.643497 3012 e e
214 65 |wreh @i Ra Theid, Rifder omda, aeram 26.475344 74.643516 3012 [Ty — _
215 65 |[wida o= g W e oA Ra Trbord, Rifdel o2, &R 26.475332 74643542 3012 TR e
216 65  [orfier aerd), sigm @ 1Ra Gehord, Rifdel o2, ogra 26.475328 74.643574 3012 [y S T2
217 65 |a= == TRT gpord, Rifde amgd, e 26.475283 74.64372 3012 e —
218 65 |<i wikm BER Ra Tpord, RifdeT oed, AERa 26.475265 74.643719 3012 [Ty — B
219 65 |Brerem smi <, IorgAR, gHia RT Tpord, RifdeT oe e, eI 26.475262 74643719 3012 e T2
220 65 |iw qoirat Ra Tperd, Rifdel oTed, ARRaM 26.475271 74.643721 3012 [Ty — T2
221 65 |sifepa g3 . _ToTeT AT e, Qaql e @ G5, Rifder @ 26.473467 74.642193 3052 |r IR =9 G cﬁggg ERl
222 65 |@reh wire T gord, Y9y a1 @ U, Rifdd o 26.473464 74.642196 3052 = IR =4 9 NSy —
223 65 E’l?'ﬁ e W Feld, Qaql Eﬁé Eﬁ Eﬁ%} ﬁ{ﬁ?{ HEL' 26.473463 74.642194 3052 154 ‘\394]’{ <IN g cﬁggg —
224 65 |- sarm T gord, Y9y a1 @ U, Rifdd o 26.473466 74.642188 3052 = IR =4 9 NSy —
225 65 |um & @, affaRar T e, X A1S @ 0B, Rifde @S] 26.473461 74.642185 3052 |~ wuR o @ dis e
226 65 [|w=aw 4t e AT gerd, Y A1S @ OB, Rifda anse|  26.47346 74.642184 3052 R @R = g sy EE]
227 65 SRLT\’ (=) NIGIUECES Qaqj e @ G5, Rifder @ 26.473465 74.642184 3052 = R <9 G cﬁggg —
228 65 |a=< == T aord, Y9y a1 @ U, Rifdd o 26.473465 74.642181 3052 = IR = 9 NSy —
229 65 |rrvre arkie AT e @ 9o, fafda aga, ey 26.475272 74.643711 3012 e e
230 65 |a= = SrraTel BieH & WS, Rifde oreH, oiey  26.475266 74.64371 3012 [y S -
231 65 |+ sarn SrraTel Bl @ 0B, Rifde ordq, oiey  26.47527 74.64372 3012 e e
232 65 |7@ sarn STt Bl & G, Rifde orsH, ey 26.47527 74.64372 3012 [Ty — T8
233 65 |+ sarn ATl Bie @ 0B, Rifde ord, oiey 26.475265 74.643731 3012 e e
234 65 |aw = SrrdTel BieH & WS, Rifde oreH, oiey  26.475249 74.643732 3012 [y S T
235 65  |#ae et Fewr ATt Bl @ 0B, Rifde orde, ey 26.475227 74.643722 3012 e el
236 65 |qufremmer fewr SrrdTel BieH & WS, Rifde ore, oiey  26.475205 74.643716 3012 [y S T
237 65 |+ sarn ATt Bl @ 0B, Rifde orde, diey 26.475189 74.643711 3012 e el
238 65 |arch wie STl B @ 01, Rifdel ared, oiley  26.475134 74.643687 | 3012 ETe— —
239 65 | == srraTe e @ o, fafda aga, ey 26.475123 74.64367 3012 e e




240 65 |udot I ST Bl @ 0o, Rifae ongq, ey 26.475123 74.64367 3012 TR o BEil
241 65  |oHa Al STt Bl @ 98, Rifde orsq, ey 26.475088 74.643658 3012 TR oy B
242 65 |amerer ukie ATl Bl @ 0B, Rifde orde, diey  26.475074 74.643624 3012 e et
243 65 |a=< == exfdom wRer A, = Rifder amEH, ey 26.475051 74.64362 3012 TR —
244 | 65 |wren wie R WIRaT A, < R e, aer| 26474917 74.643583 | 3012 S -
245 65 |, o, Raw, e AR, 799 Jx|eRfaar sRer #/rf, = Rifda argq, @rey 26.47489 74.64357 3012 TR g BTl
246 | 65 |wren wie R ATRaT A, = R e, aer| | 26.474866 74.643558 | 3012 S -
247 65 |3, wroren, Rawr g=1 vm Reure o |exfaems eiker anf, =g Rifdet os, oy~ 26.474852 74.643553 3012 TR BTl
248 | 65 |wren wie T TRa A, =] Rife o1, er| 26474841 74.643556 | 3012 S -
749 | 65 |wren wie SRR IRaT A, =1 Rt e, aver] 26474828 | 74643558 | 3012 T =
250 | 65 |wren wie R WTRaT A, = R e, aer| 26474743 74.643361 | 3012 e -
251 65 |ifewat @, WrTERE BT xfIe 9ReT Ant, g Rifdet osq, ey 26.474743 74.643361 3012 TR e EE
252 | 65 |ifeeet o, Geiciar s R ATRaT A, = R e, aer| 26474735 74.643358 | 3012 e ==
253 65 |emerrar, Aivdwd, Tiardrs, SRS, BExfdem et A, =) Rifde orge, oe  26.474727 74.643328 3012 TR S
254 | 65 |omied a e R WTRaT A, = R e, aer| 26474725 74.643311 | 3012 S =
255 65 ey Tgddl (@reh wie) exfdom eRer A, = Rifder amEH, ey 26.474717 74.643293 3012 TR —
256 | 65 |wren wie R ATRaT A, = R e, aer| 26474696 74.643279 | 3012 e -
257 65 |var Bred xfIe eReT A, = Rifdet o$q, ey 26.474668 74.643255 3012 TR e &l
258 65 |dus fagr sRfdems TR A, = Rifae g, ey 26.474668 74.643255 3012 TR o EEl
259 65 |erfiar srrard, eifdhd srrare xfIe eReT A, g Rifdet osq, ey 26.474579 74.643246 3012 TR g T8
260 | 65 [|o= = R WTRaT A, = R e, aer| | 26474519 74.643255 | 3012 e -
261 65 |21 smen S ufed gl 9w xfIe 9ReT A, g Rifdet osq, ey 26.474466 74.643244 3012 TR oy B
262 65 |yaRer va. veraaorey sRfdeme wRaT A, = Rifaer g, ey 26.474414 74.643237 3012 TR o ERl
263 65 |zorirer A, UST IRA, S arguE xfIe eReT A, =g Rifdet osq, ey 26.474372 74.643225 3012 TR AT T8
264 65 |uw<r A<l sRfdeme TR A, = Rifaer g, ey 26.474367 74.643216 3012 TR o ERl
265 65 |SwR Herd xfIe eReT A, =g Rifdet osq, ey 26.474344 74.64322 3012 TR B
266 | 65 |uem AR o, st BAR o R WTRaT A, < Riel e, aier|  26.47433 74643211 | 3012 = =
267 65 [|Rrer amifes, s uHerT xfIe 9ReT A, g Rifdet ogq, ey 26.474332 74.643215 3012 TR BTl
268 | 65 |wren wie ERTIeI TRa] A, = NI o1, aer| | 26.47434 74.64322 3012 e -
269 | 65 [ st SRR SIRaT A, =1 R e, aver]  26.474344 | 74643225 | 3012 T e
770 | 65 |oa w wons R WTRaT A, = Riel e, aer| | 26.47435 74.643235 | 3012 S e
284 65 | wal. T ATt B, Rifder @EH, e 26.47452 74.643629 3012 TR oy B
I B g g g Ty pe——— - —— 26.471673 74641501 | 3052 R woR =< 4 9o =
389 | 65 |t s P e A T, R o, e | 26471926 | 74641078 | 3052w we e @ dee] =&
290 65 [, e QIRET qrell el fafder arEH, drEE 26.471903 74.640926 3052 |~ wuR o @ dis] et
292 65 el wie SrrdaTel B, Rifder ogH, deraE 26.474309 74.643446 3038 TR GUIR = -
I B e e e gy eempcu—— Po——— - — 26.472005 74.64008 3052 |k qor < 7 fse =
294 65 |- sarm ‘IIRET drel) Tefl, Rifder @, eheras 26.472201 74.640871 3052 |r IR = 9 NSy B
295 | 65 [ oo QRaT aTeh o, Rifaet e, erEr 26.472099 74640839 | 3052 | o el 4 G ==
296 65 |8 qamn ‘IIRET drel) Tefl, Rifder @, eheras 26.472014 74.640734 3052 I guR = 9 Qs &l
297 | 65 [|foem @) e~ " 26.47193 74640662 | 3052 R woR =9 4 957 =
298 65 |8 qamn ‘IIRET drel) Tefl, Rifder @, eheras 26.471977 74.640572 3052 I guR = 9 Qs &l
299 | 65 |7a o e 26.472174 74640703 | 3052 R woR =< 4 957 =




300 65 |9 gamar "ITRET grel) o), Rifder e, elerar 26.472268 74.640769 3052 IR guR = 9 disey TEf
301 65 |uva. Rmae afeired IIRET qrefl 7T, Ryfet ofrea, arerar 26.472435 74.640909 3052 I guR = 9 Qs el
302 65 |9 =) QIRET aqrell e, Rifder amEH, armEE 26.472746 74.641125 3052 = R <9 G cﬁggg ES
303 65 |enifid= Sfas ‘PIRET arell TTen, Rifaer argq, era= 26.473091 74.641435 3052 I guR = 9 Qs el
304 65 |smHes faer QIRET arell el fafde arEe, derEE 26.473371 74.641635 3052 = R <9 G cﬁggg ES
305 65 [erene wire, e e IIRET qrell Tehl, Rifet ofree, asrar 26.473535 74.641702 3052 I guR = 9 Qs Tal
306 65 |etmyadrer H#AY, aeur HAT QIRET arell el fafde arEH, derEE 26.473702 74.641763 3052 |r R <9 G cﬁggg ES
307 65 |- sarm ‘IIRET drell Tefl, Rifder @, eheras 26.47387 74.641915 3052 = IR = 9 NSy ES
308 65 |9 gamar "ITRET grel) e, Rifder ames, elerar 26.473983 74.641935 3052 [k guR = 9 disey &l
309 65  |erRacier guR IIRET qrefl T, Rifet ofrea, drerar 26.473957 74.641717 3052 I guR = 9 Qs el
310 65 |5 @AR TRe "ITRET grel) e, Rifder e, eherar 26.473501 74.641528 3052 [k guR = 9 disey &l
311 65 |- garm ‘IIRET drel) Tefl, Rifder @, eheras 26.473422 74.641429 3052 = IR = 9 NSy ES
312 65  |sfiar (aIrdY diereme) ‘IRET aTel) Tell, Rifdet <, <herar 26.473229 74.641321 3052 [k gur = 9 disey ES
313 65 |a=< == ‘ITRET arel) Tefl, Rifder @, eheras 26.473033 74.641202 3052 = IR = 9 NSy ESl
314 65 |ua. @ wHf gIRET arel Teh, Rafder oreq, e 26.472874 74.64111 3052 [k gur = 9 disey &l
315 65 |a=< = ‘ITRET dTell Tefl, Rifder @, eheras 26.472598 74.640853 3052 = IR =4 9 NSy ESl
316 65 | gxe1 IRMIT AR IIRET grel) e, Rifder e, eheras 26.472431 74.640686 3052 [k guR = 9 disey &l
317 65 | v, Sr@rad ‘ITRET arel Tell, fafde @red, eraE 26.47228 74.640602 3052 I guR = 9 Qs el
318 65 |l wie QIRET arell el fifde amEH, e 26.472184 74.64052 3052 |r R <9 G cﬁggg —
319 65 |Rerar gred “9TRET arel Tell, fafde @red, eraE 26.472135 74.640468 3052 I guR = 9 Qs el
321 65 o AR AR (R gar) "ITRET grel) o), Rifder e, e 26.473922 74.64117 3052 [k gur = 9 disey &l
322 65 |20 S vAIRRIE IIRET grefl T, Rifdet ofrea, drerar 26.474119 74.641188 3052 I guR = 9 Qs el
323 65 |ww. . ARR "ITRET qrel) e, Rifder e, eherar 26.474149 74.641257 3052 [k gur = 9 disey &l
324 65 |a=< == "ITRET arell Tefl, Rifder e, eheras 26.474001 74.641159 3052 |r IR =4 9 NSy ESl
325 65 |was wad "ITRET grel) 7o), Rifder e, eherar 26.473781 74.641034 3052 [k guR = 9 disey &l
326 65 |STdiRT et WRR “TIRST arel) Tefl, Rifder amse, oera 26.473725 74.641054 3052 I guR = 9 Qs el
327 65  |7ver @AR el "IIRET grel) o), Rifder e, elerar 26.473574 74.640942 3052 [k gur = 9 disey &l
328 65 |- sarm ‘IIRET drel) Tefl, Rifder @, eheras 26.47397 74.640982 3052 = IR =4 9 NSy ES
329 65 g9 AR, SR, I ARV |'eTRaT el TR, Rifder wEe, e 26.473908 74.640926 3052 [k guR = 9 disey &l
330 65 | weRr U3 W@ .8l Aol IRET drelt Tell, Rifder amga, oeras 26.474014 74.640674 3052 I guR = 9 s el
331 65 |uam. arg RN gIRET arel Teh, Rafder oreq, e 26.473957 74.640541 3052 [k guR = 9 disey &l
332 65 |gomem |=1 wA, ¥w Rwy #3 TRET arel) Teft, Rifder amge, oera= 26.474226 74.64063 3052 I guR = 9 Qs el
333 65 |9 =) QIRET aqrell el Rifder amEH, armEE 26.474284 74.64069 3052 |r R <9 G cﬁggg ES
334 65  |Rrorer vl “IIRGT aTel) Tefl, Rifder amse, oera= 26.474367 74.640749 3052 I guR = 9 Qs el
335 65 |uax Bew "ITRET grel) 7o), Rifder ames, eherar 26.473885 74.640462 3052 [k guR = 9 disey &l
336 65 ey wmf IIRET qrefl 7T, Rifet ofrea, aerar 26.473836 74.640542 3052 I guR = 9 s el
337 65 |l wie QIRET arell e, fifdet amEH, armEE 26.473739 74.640406 3052 |r R <9 G cﬁggg —
338 65  |amem AR Ui oI Ry AR IIRGT arel) Tefl, Rifder amse, oeras 26.473705 74.640422 3052 I guR = 9 Qs el
339 65 |t #Er AR ufT S emuA. ARR “IIRET drell Telt, Rifdet <red, ferars 26.473611 74.6404 3052 [k gur = 9 disey ES
340 65 |sfiage ufs uw Riw IIRET grell T, Rifdet ofree, aerar 26.473809 74.640043 3052 I guR = 9 Qs el
341 65 |<i. 99ar ufe SarR. Goiaa ITRET grel) e, Rifder omed, eheras 26.473913 74.640182 3052 [k gur = 9 disey &l
342 65 |gsHwrny @R ‘IRGT arel) Teft, Rifder amse, oera 26.474025 74.640294 3052 |r QIR =9 9 Q59 ESl
343 65 |l wie QIRET arell el fifde amEH, armE 26.474191 74.640473 3052 |r R <9 G cﬁggg —




344 65 |<t. wavicrar ufeq <. wifee aromRT ‘IIRET qrelt Tell, Rifdet orgH, agra 26.474567 74.64053 3052 |r IR =9 G cﬁggg Bl
345 65 |Sf. I g "R IIRET arel) Teft, Rifder arse, oeras 26.474428 74.640216 3052 |r QIR =9 9 Q59 B
346 65 [$9% deeh “IMRET Tl T, fafe dEd, dEraH 26.474289 74.640066 3052 R guR = 9GSy B
347 65 |¥ug sregd ¥ fawch ‘IRET arelt Tell, fufder @da, eraE 26.474212 74.639961 3052 [ @R =i 9 disey et
348 65 |<if. @erdi weR JIRET Tel T, RIfe ofed, dsra 26.474054 74.639938 3052 R @R = 9GSy B
349 65 |fad® weR g3 diud. AR TTRST arelt Teh), Rifder amge, oera= 26.474629 74.6401 3052 = QIR =9 9 Q59 B
350 65 | <o, Sfaq, s, o, 79 ARR IIRET arelt Telt, Rifdet <, <herars 26.474573 74.639958 3052 R guR = 9GSy e
351 65 [@RIa e @M doraw IIRET qrefl Tel, Rifdet ofrea, aerar 26.474908 74.639942 3052 I guR = 9 Qs el
352 65 |e' =W IIRET qTell TTell, Rifdet oge, aera= 26.475075 74.640142 3052 |r IR =9 G cﬁggg ERl
353 65 |a=< = "ITRET arell Tefl, Rifder @, eheras 26.473386 74.639984 3052 |r IR = 9 NSy B
354 65 |o. 1. ot “ARET gl e, Rifde omed, derae 26.472987 74.639777 3052 | wuR o @ Qs e
355 65 |a=< == "ITRET drel) Tefl, Rifder @, eheras 26.472996 74.639503 3052 = IR = 9 NSy ES
356 65  |Rrorer AR, guH "R gF ShAlud. A erRaT areh TR, Rifde oEe, e 26.473393 74.639541 3052 R @R = 9GSy B
357 65 |err afea "ITRET drell Tefl, Rifder @g, eheras 26.473481 74.639743 3052 = IR = 9 NSy B
358 65 |Rra fig wroga “ITRET aTel e, e aed, deraE 26.47351 74.639924 3052 R @R = 9GSy B
360 65  |Rvy smarar ufeq arfrer ararar "IIRET arel) Tefl, Rifder @, eheras 26.47416 74.63964 3052 = IR =4 9 NSy B
362 65 Kt Rafaer ameH, dArerEE 26.474086 74.639598 3052 |r ER =R cﬁggg ES
368 65 [a= == Riferet e, e 26.475059 74.639466 3046 TR R -
369 65 |wrel wie Rafaer omeA, dAeraEE 26.475155 74.63972 3046 TR —
372 65  |Rraber wieR gm dige. AR Rifaer @reH, oera 26.474957 74.639191 3047 TR e EE
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